Wi 4 - 25 % B 2026 FEHE A 4R RS AT

A4 SHHES BEEBZHR | HEEWARRE | BiEebgR RS RELRE
[psex 511 3setslotlotiok 7228 izl 100700 2% 88.43 T+ B 90 A
K 3505k ok k% 7603 2 100700 2= 81.73 T B 0 A
Fhiok 110 Dsskkssoknsk k86 16 24 2w 100800 Hhzhak 88.40 T+ B 50 A
Xl 5308tk 2] 2X 2R 100800 k= 85.38 T B 0 A
sk 5303ketslototkok 0747 izl 100800 izl 84.90 T+ B 50 A
2Kk 110 Ixsksokskskskk (0425 th 25 24 100800 i zh 84.86 Wi+HF A
Aok 1305skksctskotork 1024 Frzh 2 100800 Hhzhak 84.64 T+ B 50 A
s 530 ssksokstor k0420 2 100800 izl 84.44 T+ HF 0 A=
sk 341 Itttk 4420 izl 100800 Hhzhak 84.26 T+ B 90 A
o 445285k x4%0088 255 100800 Pl 83.60 (SR as
Tl sk 1426%ksksiortor k542X Frzh s 100800 Hhzhak 83.34 T+ B 50 A
Stk 410235k gtk k4044 2R 100800 k= 83.22 T HF A
Zskok 110 Dskkssokskk k2326 24 2w 100800 izl 82.34 T+ B 50 A
s 1306kttt k 2627 2R 100800 ks 82.33 T+ HF 0 A=
Fsok 1306kksetsckkrx4068 Frzh 2 100800 Hhzhak 82.17 T+ B 50 A
[ 350 Isksoksorskk ()] 22 2R 100800 k= 82.08 T HF A
Fook 1306kkstsckotork 1 240 izl 100800 Hhzhak 81.66 T+ B 90 A
K]k 1404tttk k6844 2 100800 ks 81.62 T B A
Srx 43045k 85k5% 0260 24 S 100800 Hhzhak 81.37 T+ B 50 A
Tk 522 ssksokstok k008X 2R 100800 k= 81.34 T+ B A
fieseox 371 etolotionior 1846 izl 100800 izl 81.30 T+ B 50 A
Xk 5323%kkkkxx%%%3926 th 25 24 100800 i zh 81.08 Wi+H A
sk 500 Lok k%0829 24 S 100800 Hhzhak 81.07 T+ B 50 A
e 652 Jkskstokgok k4326 2R 100800 k= 81.06 T+ B A
ek 6109tttk 0629 Frzh 2 100800 izl 80.64 T+ B 50 A
Xk 611 0%sksctoletoksiekok002 1 i 25 24 B5% 100800 i 22 80.40 2 e
sk 1306kttt 0040 Frzh 2 100800 Hhzhak 80.34 T+ B 50 A
[ 371 Tkttt 48 2X 2R 100800 k= 80.02 T+ HF 0 A=
ke 372 3ksksoktok k%6027 24 2w 100800 izl 79.86 T+ B 50 A
Fwx 141 Iisksttisorseskk01 09 2 100800 ks 79.26 T B A
Fook 341 T etoloplorkk 062 1 2l 100800 Hhzhak 78.73 T+ B 90 A
Yok 4509%k5kkxx45%0240 i 25 24 100800 i zh 78.56 Wi+HF A
Aok 4104ststotionkk 9163 Frzh 100800 izl 78.54 T+ B 50 A
sk 13093kttt k2328 2R 100800 ks 78.34 T B 0 A
Xl 1426%kstksrctk k8824 24 24 b 100800 Hhzg 78.34 iR A
Fx 4506% %k EFF %2729 2R 100800 ks 78.28 T B 0 A
Thstk 1309sksksctsotoctork 0027 Frzh 100800 izl 78.18 T+ B 50 A
ek 140 Lokttt k 1926 2 100800 ks 77.87 T B 0 A
s 371 Ttk k% 2943 24 2w 100800 izl 76.76 T+ B 50 A
Fit ek 130 Lokttt k21 26 2 100800 ks 76.51 T B 0 A
ieseox 4101 etsolototkok 9553 Frzh 2 100800 Hhzhak 76.37 T+ B 50 A
s 320 Jskokgrok k0239 2 100800 ks 76.22 T B 0 A
ieseox 4101 etttk 0064 Frzh 2 100800 Hhzhak 75.75 T+ B 50 A
Bk 410 Dskskoksrk k%3364 2 100800 ks 75.52 T B A
sk 370 Tsksssoksok k002X 24 2w 100800 izl 75.31 T+ B 50 A
Jitt ek 14265tttk 1 328 2 100800 ks 75.24 T B A
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Fook 5002tttk 3940 izl 100800 Hhzhak 75.20 T+ B 90 A
Fhotex 3504k gtk k0027 2 100800 ks 75.07 T B 0 A
sk 41 14tttk 0349 Frzh 2 100800 Hhzhak 74.97 T+ B 50 A
K]k 370 Isksosgokor ] 524 2R 100800 k= 74.68 T B 0 A
FH stk 411 3ssetslopiotior 1 334 izl 100800 izl 74.40 T+ B 50 A
ek 21 1 4xkskkxxkkk6024 th 25 24 100800 i zh 74.28 Wi+HF A
F e 1304sskksoktrk k4245 24 S 100800 Hhzhak 74.13 T+ B 50 A
Wik 500 [sskskksor k7919 2 100800 izl 74.08 T+ HF 0 A=
sk 360 7kttt 0929 izl 100800 Hhzhak 73.82 T+ B 90 A
FH s 410235k gok k% 2522 2 100800 ks 73.76 T B A
Xljsesk 3706kttt 4422 Frzh s 100800 Hhzhak 73.68 T+ B 50 A
[ 1306kttt k0927 2R 100800 k= 73.61 T HF A
Bk 41 1 4okl k% 7546 24 2w 100800 izl 73.24 T+ B 50 A
Tk 5223k k% %3202 2R 100800 ks 73.22 T+ HF 0 A=
Fook 371 5tttk 6023 Frzh 2 100800 Hhzhak 73.19 T+ B 50 A
ek 510 Ixsksokkxxskk 002X th 25 24 100800 i zh 73.12 Wi+H A
s 5002481 06 izl 100800 Hhzhak 72.96 A4
ok 14245tk k 31 26 2 100800 ks 72.59 T B A
s 1426%skskskskdokk 1525 24 2B 100800 iz g 72.19 hi I AE
Pl 130 Lokttt 354 1 2R 100800 k= 71.92 T+ B A
Aok 41 14stostotiotiord 213 izl 100800 izl 71.90 T+ B 50 A
SR 130 Ixsksoskskxkdkk (0324 th 25 24 100800 i zh 71.83 Wi+H A
sk 4107k 85k %9869 24 S 100800 Hhzhak 71.63 T+ B 50 A
i 150 Ikt 5 1 2X 2R 100800 k= 71.48 T+ B A
sk 1306skkstskomkork 304X Frzh 2 100800 izl 71.46 T+ B 50 A
ek 2302k k4029 25 2R 100800 ks 71.46 2 e
Fook 3703tttk 0624 Frzh 2 100800 Hhzhak 71.34 T+ B 50 A
ZSek 371 sk k336 1 2R 100800 k= 71.15 T+ HF 0 A=
ik 5224tttk 5562 TR 242 B 100800 g 70.91 -t 7 A
K 1306kttt :002 1 2 100800 ks 70.41 T B A
T 131 Okttt 2027 2l 100800 Hhzhak 69.95 LA
Rk 3308kttt k506X 25 2R 100800 ks 69.80 L e
ok 4128tttk 5760 Frzh 100800 izl 69.70 T+ B 50 A
ek 360Sssksokgok k%2427 2R 100800 ks 69.68 T B 0 A
XiJs 3729tk k7229 2 2B 100800 iz s 69.36 R AE
sk 130 Lokttt 1 523 2R 100800 ks 69.23 T B 0 A
sk 1508skksctskotkork0024 Frzh 100800 izl 69.23 T+ B 50 A
Fit ek 4105k stk k%0068 2 100800 ks 69.00 T B 0 A
Ak 411 Bksssokokk k5582 24 2w 100800 izl 68.57 T+ B 50 A
E ek 140 Tk k55555004 X 2 100800 ks 68.31 T B 0 A
Tk 370 ksketlottotkok 2512 Frzh 2 100800 Hhzhak 67.65 T+ B 50 A
Zsx 1509k 5555602 1 2 100800 ks 67.08 T B 0 A
Stk 4101 etttk 0025 Frzh 2 100800 Hhzhak 66.16 T+ B 50 A
ZSek 3709kt ] 52X 2 100800 ks 64.36 T B A
Zskok 142 Tk 142X 24 2w 100800 izl 63.71 T+ B 50 A
Fx 13023kttt k2386 2 100800 ks 63.21 T B A
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F sk 522 Ttttk 068X izl 100800 Hhzhak 61.76 T+ B 90 A
Zsx 41 1 4sssktrskdx106 1 2 100800 ks 61.46 T B 0 A
ok 411 Ttk k1834 24 2w 100800 Hhzhak 58.52 T+ B 50 A
B s 410THkxkk k%% 3424 2R 100800 k= 57.30 T B 0 A
sk 4209ssskskfkkok k4425 24 2w 105600 12y 72.39 AT A
Bk 3708%kkkkxx%5%6020 th 25 24 105600 =55t 67.36 Wi+HF A




